

Végezd el a műveleteket, majd a helyes válasz sorszámát írd a rublikába!

$$\frac{5}{3} - \frac{1}{3} =$$

$$0. \frac{11}{9}$$

$$5. - \frac{3}{10}$$

$$\frac{17}{4} - \frac{7}{4} =$$

$$0. \frac{5}{2}$$

$$5. - \frac{13}{10}$$

$$\frac{4}{9} - \frac{5}{3} =$$

$$1. - \frac{11}{9}$$

$$6. \frac{4}{3}$$

$$\frac{3}{10} - \frac{8}{5} =$$

$$1. - \frac{5}{2}$$

$$6. \frac{19}{30}$$

$$- \frac{7}{8} + \frac{5}{3} =$$

$$2. \frac{23}{18}$$

$$7. - \frac{4}{3}$$

$$- \frac{5}{12} + \frac{7}{4} =$$

$$2. \frac{4}{3}$$

$$7. - \frac{19}{30}$$

$$- \frac{9}{15} + \frac{3}{10} =$$

$$3. - \frac{23}{18}$$

$$8. \frac{19}{24}$$

$$- \frac{9}{10} + \frac{4}{15} =$$

$$3. - \frac{4}{3}$$

$$8. \frac{31}{18}$$

$$- \frac{5}{6} - \frac{4}{9} =$$

$$4. \frac{3}{10}$$

$$9. - \frac{19}{24}$$

$$- \frac{8}{9} - \frac{5}{6} =$$

$$4. \frac{13}{10}$$

$$9. - \frac{31}{18}$$

$$\frac{19}{8} - \frac{7}{8} =$$

$$0. \frac{23}{30}$$

$$5. - \frac{3}{2}$$

$$\frac{9}{21} - \frac{7}{21} =$$

$$0. \frac{13}{15}$$

$$5. - \frac{5}{9}$$

$$\frac{2}{20} - \frac{7}{5} =$$

$$1. - \frac{23}{30}$$

$$6. \frac{19}{24}$$

$$\frac{1}{10} - \frac{7}{5} =$$

$$1. - \frac{13}{15}$$

$$6. \frac{13}{10}$$

$$- \frac{2}{5} + \frac{7}{6} =$$

$$2. \frac{6}{7}$$

$$7. - \frac{19}{24}$$

$$- \frac{1}{3} + \frac{8}{9} =$$

$$2. \frac{2}{21}$$

$$7. - \frac{13}{10}$$

$$- \frac{18}{14} + \frac{9}{21} =$$

$$3. - \frac{6}{7}$$

$$8. \frac{13}{10}$$

$$- \frac{5}{2} + \frac{7}{3} =$$

$$3. - \frac{2}{21}$$

$$8. \frac{1}{6}$$

$$- \frac{5}{12} - \frac{3}{8} =$$

$$4. \frac{3}{2}$$

$$9. - \frac{13}{10}$$

$$- \frac{6}{10} - \frac{4}{15} =$$

$$4. \frac{5}{9}$$

$$9. - \frac{1}{6}$$